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18 . If a person invested 6000 at R% S.l for 3 year and same amount at (R + 5)% CI for 2 
year and difference between both interest is 60 Rs. then find R ?(in %)
यदि दिसीव्यक्ति ने 3 वर्ष िे दिएR% S. I पर 6000 औरउसी वर्ष (R +5)% CI पर 2 वर्ष िे दिए
दनवेश दिया हैऔर िोनो ों िे बीचिाअोंतर 60 रु है तोR खोजें? (% में)

(A)15 (B)18 (C)20 (D)24 (E)None of these
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 580 (B)570 (C) 562 (D)567 (E)None of these

What value should come in the place of question mark(?)in the following questions?

224 ÷ 4 × 12 + 320 = ? + 412
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)70010 (B)70020 (C)84634 (D)76007 (E)None of these

What value should come in the place of question mark(?)in the following questions?

54390 + 32405 + 21049 − 37824 = ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 12336 (B)12313 (C)12116 (D) 11231 (E)None of these

What value should come in the place of question mark(?)in the following questions?

23³ + 1640 ÷ 8 − 16² = ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)2529 (B)2520 (C)2530 (D)2149 (E)None of these

What value should come in the place of question mark(?)in the following questions?

(√1024 + 228 ÷ 19 )² − 71= ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)156 (B)166 (C)162 (D) 176 (E)None of these

What value should come in the place of question mark(?)in the following questions?

2460 ÷ 12 ÷ 5 + 135= ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)142 (B)150 (C)130 (D)145 (E)None of these

What value should come in the place of question mark(?)in the following questions?

376 × 25 % + 192 × 75% − 1010= ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)50.2 (B)52.2 (C) 51.2 (D)53.2 (E)54.2

What value should come in the place of question mark(?)in the following questions?

20% of 2⁷+ 40% of 64 = 0
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)2180 (B)2100 (C)2304 (D)2204 (E)None of these

What value should come in the place of question mark(?)in the following questions?

12 × 14 + 46² − 552 ÷ 3= ?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 90 (B)118 (C)130 (D)138 (E)None of these

What value should come in the place of question mark(?)in the following questions?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 31 (B) 1681 (C) 41 (D) 961 (E)None of these

What value should come in the place of question mark(?)in the following questions?

4⁴ + 5⁴ + 10% of  8000 = ?²

E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

11 . 50 , 51 , 56 , 70 , 100 , ?  

(A)151 (B)158 (C)159 (D)155 (E)157
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What should come at place of the question mark (?) in the following number series ?

12 . 6 , 15 , 31 , 52 , 76 , ? 

(A)99 (B)105 (C)97 (D)101 (E)106
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What should come at place of the question mark (?) in the following number series ?

13 . 694 , 343 , 168 , 81 , 38 , ? 

(A)15 (B)20 (C)21 (D)17 (E)25
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What should come at place of the question mark (?) in the following number series ?

14 . 599 , 719 , 959 , 1319 , 1799 , ? 

(A)2395 (B)3299 (C)3592 (D)3259 (E)3399
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What should come at place of the question mark (?) in the following number series ?

15 . 15 , 16 , 20 , 47 , 63 , ?

(A) 188 (B)273 (C)181 (D) 185 (E)150
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Directions (Q. 26-30): The data given below is of 3 villages and there population 

working in different occupation. Study the table carefully to answer the question.

नीचे िी गयी तादििा में 3 गााँव व उसमे अिग अिगव्यवसाय में िाम िरने वािे िोगो ोंिी

िुि सोंख्या िी गयी है| नीचे दिये गए प्रश्ो ोंिा उत्तर िेने िे दिए तादििा िा ध्यानपूवषि अध्ययन

िरें |
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(A)86 : 311 (B)13 :67 (C)123 : 87 (D)113 : 86 (E)None of these

Q.26 :- What is the ratio of the total number of people working in village-1 to the total 
number of people who involve in fishing? 
गाोंव 1 में िामिरने वािे िोगो ोंिी िुिसोंख्यािा मछिीपािनिरने वािे िुििोगो ोंिी सोंख्या
सेक्याअनुपात है?
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(A) 221.71 (B)230.37 (C)227.77 (D)186.45 (E)None of these

Q.27:-The person who involve in animal husbandry in village 1 and village-2 is what percent 
more than that of people who involve in apiculture in village-1? 
गाोंव- 1 औरगाोंव -2 में पशुपािनिरने वािो ोंिी िुिसोंख्या, गाोंव 1 में मधुमक्खीपािनिरने वािे
िोगो से दितने प्रदतशतअदधि है?
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(A)17800 (B)16900 (C)17900 (D)17750 (E)None of these

Q.28 :-What is the difference between total numbers of people working in village-2 to the 
total number of people who involve in animal husbandry. if 30% of people of village-2 who 
involve in fishing are ill? 
पशुपािनिरने वािे िोगो ोंिी िुिसोंख्याऔर गाोंव 2 में िामिरने वािे िोगो ोंिी िुिसोंख्या िे
बीचक्याअोंतर है। यदि मछिीपािनमें शादमि गाोंव -2 िे 30% िोग बीमार हैं?
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(A)682000 (B)170500 (C)511500 (D)341000 (E)None of these

Q.29 :-If all the people working in all the villages are men and they all are married and have 
one child each, what will be the total population of all three villages?
यदि सभी गाोंवो ों में िामिर रहे सभी िोग पुरुर् हैं और वे सभी दववादहत हैं और उनसबिा एि-
एिबच्चा है, तो तीन गाोंवो ोंिी िुिआबािीक्या होगी ?
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(A)68% (B)70% (C)72% (D)73% (E)None of these

Q.30 :-If workers involve in farming and animal husbandry of village-1 and workers 
involve in farming and fishing of village-2 go on strike then what percent of total workers 
are still working overall? (Approx)
यदि गाोंव 1 में खेतीऔर पशुपािनिरने वािेऔर गाोंव -2 में खेतीऔर मछिी पिड़ने वािे
श्रदमिहड़ताि परजाते हैं तो िुििामिर रहे श्रदमिो ोंिा प्रदतशत दितना होगा? (िगभग)
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Direction (31 to 35 ):- In each question two equations numbered (I) and (II) are 
given. You have to solve both the equations and mark appropriate answer.

(a) If x > y 

(b) If x < y 

(c) If x ≥ y 

(d) If x ≤ y

(e) x = y or no relation can be established 

E04613
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Q.31 :- I. x2 −11x + 30=0                          II.  y2 + 12y +36=0

Q.32 :- I. x2 +13 x +40 =0                        II.  y2 + 7 y+10= 0

Q.33 :- I. x²−20x + 91 = 0 II. y²+16y +63= 0

Q.34 :- I. x²− x −12=0 II. y2 +5y + 6 = 0

Q.35 :- I. x2 + 9x +20=0 II. 8y² − 15y + 7 =0

E04613
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19 . If ratio of ages of P and Q before 4 year ago is 5:4 and after 12 years sum of their ages 
will be 68 years, their what was P's age 2 years ago ?
यदि 4 वर्ष पहिे P औरQ िीआयुिा अनुपात 5:4 है और 12 वर्ष िे बाि उनिीआयु िा योग 68 
वर्ष होगा , तो P िीआयु 2 वर्ष पहिेक्या थी?

(A)24years (B)22years (C)18years (D)26years (E)None of these

E04613
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20 . P invested 60% more than Q and R invested 20% more than Q. If ratio of investment 
time-period (P: Q: R) is 2: 4:3 and the sum of profit shares of Q and Ris Rs. 8550 then find 
the profit share of P?
P नेQ से 60% अदधि दनवेश दिया है।औरR नेQ से 20% अदधि दनवेश दिया है। यदि दनवेश
िीसमयावदधिाअनुपात (P: Q: R) 2: 4:3 है औरQ औरR िे िाभ शेयरो ोंिा योग 8550रु है।
P िािाभ शेयर पाएों ?

(A)Rs3200 (B)Rs4000 (C)Rs2400 (D)Rs3600 (E)None of these

E04613
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21. If a boat travels 18 km more in downstream than in upstream in 3 hr. and if the speed 
of the Boat in still water is 20 km/hr. find the distance travelled by boat in downstream in 4 
hr. ? 
अगर एिनाव 3 घोंटे में उर्ध्ष प्रवाहिी तुिना में अनु प्रवाह में 18 दिमी अदधियात्रािरती हैऔर
यदिअभीभी पानी में नाव िी गदत 20 दिमी / घोंटा है। 4 घोंटे में अनु प्रवाह में नाव द्वारा तयिी गई
िूरी ज्ञातिरें?

(A)86 (B)92 (C)68 (D)96 (E)None of these

E04613
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22 . When a person sold an article, his profit percent is 60% of the selling price. If the cost 
price is increased by 75% and the selling price remains the same, then find decrement in 
the profit is what percent of the selling price of the article? 
जब दिसीव्यक्ति ने एिवसु्त बेचा, तो उसिा िाभ प्रदतशत दवक्रय मूल्यिा 60% है। यदि िागत
मूल्यमें 75% िी वृक्तिहुई हैऔर दवक्रय मूल्यसमान है,िाभ% में दगरावट वसु्त िे दवक्रय मूल्य
िा दितना प्रदतशत है?

(A)25% (B)30% (C)40% (D)27.5% (E)None of these
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23 . If a shopkeeper marks an item 50% above its CP and if 12% discount is given on the 
marked price and the shopkeeper makes profit of 256 Rs, then what will be the actual cost price 
of the item?
यदििोई िुिानिार अपने क्रय मूल्य से 50% ऊपर मूल्यअोंदितिरता है, औरयदिअोंदित मूल्यपर
12% िी छूट िी जाती हैऔर िुिानिार 256 रुिा िाभिमाता है, तो वसु्तिी वास्तदवििीमतक्या
होगी?

(A)1000 (B)800 (C)750 (D)1200 (E)None of these

E04613
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 1440 (B) 5040 (C) 3600 (D)720 (E)None of these

16 . In how many ways the letters of the word 'THERAPY' be arranged so that the letter 'A' 
and 'Y' never come together?

'THERAPY' शब्दिो दितनी तरीिे से व्यवक्तथथत दिया जा सिता है दि 'A' और 'Y' एिसाथ
नही ोंआये?

E04613
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(A)450 (B) 300 (C)400 (D)Cnd (E)None of these

17. A steamer goes downstream from one port to another port in 8 hours. It covers the same 
distance upstream in 10 hours. If the speed of stream is 5 km/hour, the distance between the 
two ports is. 
एिस्टीमरअनुप्रवाह में एि बन्दरगाह से िूसरे पर 8 घणे्ट में पहुचा है, वहसमान िूरी उर्ध्षप्रवाह में
10 घणे्ट में तयिरता है। यदि धारा िी चाि 5 दिमी/घण्टा है, तो िोनो ों बन्दरगाहो ों िे बीचिी िूरी
ज्ञातिीदजए।

E04613
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(A)85 (B) 75 (C)95 (D)80 (E)None of these

18. A cricketer whose bowling average is 24.85 runs per wicket, takes 5 wickets for 52 runs in 
last match and there by decrease his average by 0.85. The number of wickets taken by him 
before the last match was?
एि क्तखिाड़ी दजसिी गेंिबाजीिाऔसत 24.85 रन / दविेट है, अक्तिममैंच में वह 52 रन िे िर 5 
दविेट िेता है, दजससे उसिेऔसतमें 0.85 िीिमी हो जाती है। उसिे द्वारा अक्तिम मैच से पूवष
में दिये गये दविेटो ोंिी सोंख्या ज्ञातिरे?

E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)26 (B) 14 (C)34 (D)27 (E)24

19 . A man and a woman together can do a piece of work in T days. if A man alone can do 
the same work in (T+16) days and A woman can do the same work in (T+36) days, find the 
value of T.
एि पुरूर्और एिमदहिा दमििरएििामिो T दिन में िरते है, यदि एि पुरूर्अिेिे
समानिायष िो (T+16) दिन में पूर्ष िरेऔर एिमदहिा अिेिे समानिायष िो (T+36) दिनो ों में
पूर्ष िरे तो T िा मान बताइये?

E04613
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(A)53 : 77 (B)5 : 8 (C)51 : 79 (D) CND (E)None of these

20 . If b : (a+c) = 4 : 9 and c : (a+b) = 3 : 7 the find the ratio of a : (b+c)

यदि b : (a+c) = 4 : 9 और c : (a+b) = 3 : 7 तो a : (b+c) िी ज्ञातिरे ।

E04613
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 60% (B)90% (C) 85% (D)CND (E)None of these

21 . In a test consisting 150 question carrying 1 mark each, Ram answered 70% of the first 
75 questions correctly. What percent of the other 75 question does he need to answer 
correctly to score 80% of the entire exam? 
एिपरीक्षा में 1 अोंि िे 150 प्रश् रखे गये, राम ने पहिे 75 प्रश्ो ों िे 70% सही उत्तर दिये, वह िूसरे
75 प्रश्ो ों िे दितने प्रदतशतसही उत्तर िे दि उसिे िुि 80% अोंि प्राप्तहो ?

E04613
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(A)500 (B)550 (C)600 (D)650 (E)None of these

22. A watch is sold at a profit of 20% if both the cost price and selling price of the watch 
decreased by Rs. 200, the profit would be 10% more. original cost price of the watch is?

एिघड़ीिो 20% िाभ पर बेचा जाता है, यदि य मूल्यव दवक्रय मूल्यिोनो ों में ही रू. 200 िोिमी
िर िी जाये तो िाभमें 10% िी वृक्ति हो जाती है घड़ीिा वास्तदविक्रयमूल्यज्ञातिरें?

E04613
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(A) 4kg (B) 10 kg (C) 5 kg (D)CND (E)None of these

23 . A 10 kg mixture of sand and salt 40% is sand. How much salt should be added so that 
ratio of salt and sand became 4:1in new mixture?
बािूऔर नमि िे 10 दििो दमश्रर्में 40% बािू है, इसमें दितना नमिऔर दमिा िे दि दमश्रर्
में नमिव बािू िो अनुपात 4 : 1 हो जाये?
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(A) 5/36 (B) 1/9 (C)1/6 (D) 1/3 (E)None of these

24.A dice is thrown twice what is the probability of getting a sum more than 9 from the both 
throws?
एिपासे िो िो बारफें िा जाता है। िोनो ों बार में आने वािे अोंिोिा योग 9 से अदधिहोने िी
क्यासम्भावना होगी?
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(A)57200 (B) 5720 (C)48900 (D)CND (E)None of these

25. Ravi decided to donate 15% of his monthly salary to an NGO. On the day of donation he 
changed her mid and donated Rs. 6864 which is 80% of what he had decided earlier. How 
much is Ravi's monthly salary?
रदवअपनी मादसिआयिा 15% एिNGO में िान िरने िा दनर्षय िेता है िान िे दिन उसिा
दिमाग बििजाता है, औरवहरू. 6864 िानिरता है, जो दिउसिे द्वारा पूवष में तयिी गई रादश
िा 80% है। रदविी मादसिआयज्ञातिीदजए?
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